Kindergarten

Total

Grade 1

Total

Grade 2
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Grade 3
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411 365 367 381
Class 1 14 17 17 15
Class 2 14 15 17 16
Class 3 14 16 18 15
Class 4 14 14
66 59 65 74
Class 1 20 13 18 18
Class 2 18 12 20 18
Class 3 16 16 18 18
Class 4 18 15
Class 5
87 67 67 66
Class 1 17 19 19 19
Class 2 16 18 19 21
Class 3 17 19 19 18
Class 4 15 19
Class 5 15
89 81 67 71
Class 1 20 16 19 19
Class 2 20 16 17 18
Class 3 19 15 18 19




Total

Grade 4

Total

Class 4 20 15 16 19
Class 5 19 16 16
79 78 86 75
Class 1 18 21 21 24
Class 2 18 20 20 23
Class 3 17 19 20 24
Class 4 17 20 21 24
Class 5 20
90 80 82 95
Grade Policy Min |Policy Max
K 16 18
First 16 18
Second 20 22
Multiage 18 20
Third 20 22
Fourth 20 23
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352 371 399 365 367 384
15 18 17 14 16 17
15 15 18 15 15 15
16 19 16 15 16 17
10 15
57 75 82 65 74 61
16 18 19 18 16 17
16 19 18 19 17 16
16 11 16 16 17
15 17 16
77 64 86 73 62 79
19 16 19 19 17 18
19 18 19 21 17 20
19 16 20 19 17 19
15 17
68 78 72 69 80 70
18 19 20 20 19 22
19 18 18 19 17 23
18 19 19 21 19 23




19 19 20 18 19 22
74 75 77 78 74 90
19 20 20 19 18 20
19 19 20 19 19 21
19 20 21 22 20 22
19 20 21 20 20 21
76 79 82 80 77 84
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